-09-2625 - y 'y

...........................................................

Workasaclass, 02020000000 s
@ Get 10 boxes of 100 paper clips each. Winat you rees
a Put the paper clips into Box A. g

100 7
" How many paper clips are there?

&) Lookatthe number of paper clips in Box B that
" is prepared by the teacher.

Guess the number of paper clips in Box B.

I guess there are
This box has 1000 paperclips. about 3000 paper
clips in Box E.

a Compare your guess with your classmates.
" Who has the closest guess?

............................................................................................

"\ PRACTICE \ -

Count and write in numerails. _— \ y

(@)

(b)

¢
5 CHAPTER 1 ‘



We can also use place-value cards to show the number.

2345
, s s .

w o
o O
o o
A

>
o
A

5 -

The value of the digit 2 is 2000.

The value of the digit 3 is 300.

The value of the digit 4 is 40.

The value of the digit 5is 5.

We write 2345 as two thousand, three hundred and forty-five
in words.

2. Show 7028 using @& » and [l .

4 %H 'd[é ;”% ~ Tens Ones
0 2 8

7028 = 7 thousands () hundreds . tens & ones
7028 = neo + O + 20 + &

The digit 7isinthe  #Zolig Qﬂc@* place.,
The value of the digit 7 is 7evy.

The digit Oisinthe 24y dfﬂd& place.
The value of the digit Ois 4 .

We write 7028 S | 7Hyy s o d ¢ IN WOIGS,

] . ;
io/’(? /’,’LL/ML;_.‘ (u!({ !tu Nl & }v(, © },, ;
,/" i

u-._u_.,___“
“"'ﬁ———"-
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.........................................................

---------
- - -y

Work in pairs. -

ﬂ Use number discs to show a 4-digit number.  What you need:

: 9 Get your partner to use [ 8 | to show the i T
: number and to tell the volue of each digit
in the number,

- - -

eﬂ Write the number in words. The value of the
digit 2 in the thousands :
Two thousand, '
two hundred

place is 2000. :

and
twenty-two

©000 E

) © & TR

1

)

T TR R T N T =N = W
!

Q Switch roles and repeat n to 9

7914 = 7o, + 90 + Y + M
The digit g is in the hundreds place.
The value of the digit 11s 10 .

2. Write in words.
(@ 3992 (b) 5730
(c) 6408 (d) 9011

= Complate Workbook 3A, Workshest2 sikages 3= 48

XFOR
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The masses of three animals are shown.

PR, o J«n Py
Rhmoceros

2350 kg
Tﬂﬁprﬂ‘nﬂ ela ’3 p\f\“

Hippopotamus Afncon elephanf
2500 kg 5800 kg

Which is heavier, the hippopotamus or the African elephan
Which is the lightest? RArurcce r oS

LET'S LEARN »

1. Compare the masses of the hippopotamus and the African

elephant.

H|ppopo‘romus

Ones

©

@O

N,
g —
e et e NN o A Ay gl o AT

5 thousands is greater than 2 thousands.
9800 is greater than 2500.

10

XFOBD
¥ NUMBERS TO 10 000
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We can also compare using a number line.

llllllll

0 N 1000 2000 3000 4000 5000 6000

5800 is more than 2500.
The African elephant is heavier than the hippopotamus.

Which animal is the lighfest',i@“” OCefiCD S

The African elephant is heavier
than the hippopotamus.
It cannot be the lightest animal.

Compare the masses of the hippopotamus and the rhinoceros.
Use

"~ to compare,

Hippopotamus Rhinoceros
gy

2 hundreds is smaller than & hundreds.

| 135’0 Is smaller than 250 ¢)
)35‘0 is the smallest.

CHAPTER 1




We can also compare using a number line.

2350 2500
) }

At o B o e Ry
2000 2100 2200 2300 2400 2500 2600

.25 slessthan. D KD O
The Rhrpocey sthe lightest.

3. Compare the numbers 1081, 1801 and 1018.
Arrange the numbers in order, starting with the greatest.

Use a place-value chart or [1

to help you compare the numbers.

1650 | is the greatest.
@, ﬂg’ is the smallest.

1§ O 108! el
grec/J‘res’r \// - smallest

XFO
Iehany D NUMBERS TO 10 000
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. PRACTICE \ -\

1.

is the greatest.

3049/ is the smallest.

2. Mount Evere@f’m‘ the two tallest mountains in the world.

Which is taller, Mount Everest or K27

Mount Everest
8848 m

S Arrange the numbers in order, starting with the greatest.

(0) 2350, 5320, 5023 + 5220, 5027, D350
(b) 940, 9400, 9040, 4090 G400~ qw 10 L7eR

L, Arrange the numbers in order, starting with the smallest.

(@) 1028, 2810, 2801 /9 1Letr) £

() 1324,1234,1423,1342 /) 3L4r)32 4, 142-

9-12

NUMBERS TO 10 OO0 14
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1. Whatis 1000 more than 40007

1000 more than 4000 is 5000.

+1000 -1000 -1000 +1000 +1000 +1000
1

|

Il | ] l | l |
1 1 1 | 1 | | I

| |
0 JOOp 2000 3000 4000 Lpyy, 6000 7000 600 9000 (00F

2. Whatis 100 less than 45007

1

100 less than 4500 is 4,0y

-100 +100

- | | [ 1 l | ] | l
! l I | T T ] 1 T I I

4000 Lin(O 4200 4300 Ly 4500 Leo0 4760 4800 4900 5000

FORD 16
> NUMRBRERS TO 10 000
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3. What is 10 more than 45607

ﬁ“'. I{Fﬁ._‘.
I' | t l I 1L ]
(\‘ : (\ ( ‘. - I
-
e, Pl ‘
'{”” i"‘\ 10 X 10
6“4& 10 g 10

10 more than 4560 s Y47

-10  +10
/—\/\
!

1 | ] | ] ] | | | |
I i | | | | ] T | 1 I

4500 4510 4520 4530 Y505 on 4560 b5 79 4680 4590 4600t

4. Use & to help you find the answers.
(@) 1lessthan 2900is )999 .
(b) 10lessthan 3180is 2/7 .
(c) 100 more than 4305 s Y434

/-

(d) 232%0is1morethan 2389, < e A0
(e) 30z is 10more than 3023. —

FSavy
®  F9G] is 100 less than 9099. I

5. Complete the number patterns.
Explain how you get your answers. )

(@) 2400, 3400, 4400, 5400, b4op | %00 , 8400 / ] X

(b) 8188, 570 X . 7945 , 7888, 7788, 7688, 7588//5-
(©) 723 .3733,3743,3753,3763, 3773 . 3783 =

-*“/

"
(d) 5225 i 5205, 5)GK, 5185, 5175, 5165, 5156 -
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1. Find the missing numbers.

(@) 1 more than 3675is 3676 .
(b) 100 less than 5108 is K003 .
(©) S0BY is 1000 less than 9009.
(@ 60 is 1000 more than 2460.
() 4313is 100 more than 4213.
(H  4190is 10 less than 4/90.

2. Complete the number patterns.
(@) 2668, 2768, 2868, 2968, 3065 , 3168
(b) 9421, 8421, 71}1{ , 6421, 5421, 4421, 3421

(©) 435 . 4125, 4115, 4105, 4095, 4035

g Complete Workbook 3A, Worksheet 4 » Pages 13 - 14

-

. 7 A
-~ Lm0

gf MIND WORKOUT gy 10%% o7 2
Rty /ﬂ// i
- ! /
Look at the number pattermn below. /.
What are the missing numbers?
900, 1900, 2000, ) | oy - 3100, 4100, 4200, 5500 , 6300
Describe the number pattern.

§; You may use % to help you.

{FORD 18
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Bina wants to buy a laptop.
She goes fo three shops to check

10

MATH‘S JOURNAL

the price of the laptop she wants g,

Shop B

The three shops sell the same type of laptop at different prices.
Which shop should Bina buy the laptop from?

Explain your answer, S22 C b(waugg /'HSC/W

| know how to... | SELE—CHECK ﬂ

count to 10 000.

write numbers up to 10 000 in numerals and in words.

tell the value of a digit in a number,

¢ compare and order numbers within 10 000.

~ describe and complete number patterns.

N NS SN 500 % 2 S s g, i

Fad B el e |



Math
Diagnostic Worksheet
Grade III

H 2 7
OW many gr;(/)ups of 5 make 35 ——

2. 1of18=_ £ -

© ™ N o v W

The ciim nf 23 and 17.is = _7J D ol
N

The product of 4and 7is _/t ___—

—

There are 3505 _—days ina year.
| -r"ﬁ __isthe smallest 3- digit number.

v

Cuboid has 1/ Afaces and _ & ﬁl‘\edges.
3,6,.0,12,15,18,21, J4 , 22 —=C
717=200+ I + T—"

N

. We measure length in Ws .@
- 11,
12.
13.
14.
15.
16.

8 boys hav«{j" o é?és.
Septemberis ay 9 _—Tmonth of the year.
There are MS in a day.

g

30 fewer than 50 is'&.\/
";i teri@ make 1 hundred.

Solve these.
a)7 5 b)6 9
+1 6 -1 4
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